

BID TABULATION

CLA CR 351-7.92 Selma Pike/Possum Road Roundabout PID 109451

Clark County Engineer's Department 4075 Laybourne Road, Springfield, Ohio 45505 937.521.1800

Bids Opened: 3/9/2022 at 10:00 AM

\$1,207,985.59

\$1,343,874.92

\$1,471,829.53

| Ref. No. | Item No. | Item Ext. | Description | Est. Quantity | Units | ENGINEERS ESTIMATE | | R.B. Jergens Contractors | | Barrett Paving Materials | | John R. Jurgensen Co. | |
|------------------------|----------|-----------|--|---------------|-------|--------------------|---------------------|--------------------------|---------------------|--------------------------|---------------------|-----------------------|---------------------|
| | | | | | | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price |
| Roadway | | | | | | | | | | | | | |
| 1 | 201 | 11000 | Clearing and Grubbing | 1. | LS | \$5,000.00 | \$5,000.00 | \$9,617.91 | \$9,617.91 | \$4,500.00 | \$4,500.00 | \$2,750.00 | \$2,750.00 |
| 2 | 201 | 21800 | Tree Removed, 18" | 3. | Each | \$626.26 | \$1,878.78 | \$917.15 | \$2,751.45 | \$1,000.00 | \$3,000.00 | \$1,900.00 | \$5,700.00 |
| 3 | 202 | 23000 | Pavement Removed | 4,134. | SY | \$9.40 | \$38,859.60 | \$3.40 | \$14,055.60 | \$7.50 | \$31,005.00 | \$9.00 | \$37,206.00 |
| 4 | 202 | 35100 | Pipe Removed, 24" and Under | 60. | FT | \$17.73 | \$1,063.80 | \$19.48 | \$1,168.80 | \$8.00 | \$480.00 | \$68.00 | \$4,080.00 |
| 5 | 202 | 58100 | Catch Basin Removed | 1. | Each | \$392.06 | \$392.06 | \$220.39 | \$220.39 | \$500.00 | \$500.00 | \$770.00 | \$770.00 |
| 6 | 203 | 10000 | Excavation | 1,475. | CY | \$15.86 | \$23,393.50 | \$13.08 | \$19,293.00 | \$16.00 | \$23,600.00 | \$18.00 | \$26,550.00 |
| 7 | 203 | 20000 | Embankment | 3,908. | CY | \$10.89 | \$42,558.12 | \$12.64 | \$49,397.12 | \$27.00 | \$105,516.00 | \$25.00 | \$97,700.00 |
| 8 | 203 | 98600 | Roadway, Misc.: Boulders Removed and Relocated | 3. | Each | \$500.00 | \$1,500.00 | \$277.26 | \$831.78 | \$100.00 | \$300.00 | \$500.00 | \$1,500.00 |
| 9 | 203 | 98600 | Roadway, Misc.: Hydroexcavation, As Per Plan | 5. | Each | \$1,000.00 | \$5,000.00 | \$1,445.87 | \$7,229.35 | \$800.00 | \$4,000.00 | \$4,500.00 | \$22,500.00 |
| 10 | 204 | 10000 | Subgrade Compaction | 184. | SY | \$3.50 | \$644.00 | \$4.05 | \$745.20 | \$3.50 | \$644.00 | \$11.50 | \$2,116.00 |
| 11 | 204 | 13000 | Excavation of Subgrade | 1,747. | CY | \$15.30 | \$26,729.10 | \$27.92 | \$48,776.24 | \$30.00 | \$52,410.00 | \$23.00 | \$40,181.00 |
| 12 | 204 | 30010 | Granular Material, Type B, 12" | 1,747. | CY | \$35.84 | \$62,612.48 | \$45.72 | \$79,872.84 | \$48.00 | \$83,856.00 | \$78.00 | \$136,266.00 |
| 13 | 204 | 45000 | Proof Rolling | 4. | Hour | \$161.30 | \$645.20 | \$245.10 | \$980.40 | \$200.00 | \$800.00 | \$215.00 | \$860.00 |
| 14 | 204 | 50000 | Geotextile Fabric | 5,236. | SY | \$1.28 | \$6,702.08 | \$2.85 | \$14,922.60 | \$1.78 | \$9,320.08 | \$2.25 | \$11,781.00 |
| 15 | 204 | 51000 | Geogrid | 1,000. | SY | \$2.01 | \$2,010.00 | \$1.89 | \$1,890.00 | \$3.00 | \$3,000.00 | \$4.00 | \$4,000.00 |
| 16 | 608 | 10000 | 4" Concrete Walk | 323. | SF | \$12.40 | \$4,005.20 | \$8.22 | \$2,655.06 | \$8.00 | \$2,584.00 | \$9.25 | \$2,987.75 |
| 17 | 608 | 52000 | Curb Ramp | 114. | SF | \$19.91 | \$2,269.74 | \$20.79 | \$2,370.06 | \$12.00 | \$1,368.00 | \$27.00 | \$3,078.00 |
| 18 | 608 | 53020 | Detectable Warning | 20. | SF | \$46.86 | \$937.20 | \$185.31 | \$3,706.20 | \$50.00 | \$1,000.00 | \$28.50 | \$570.00 |
| 19 | 623 | 38500 | Monument Assembly | 5. | Each | \$858.93 | \$4,294.65 | \$1,091.62 | \$5,458.10 | \$950.00 | \$4,750.00 | \$1,225.00 | \$6,125.00 |
| 20 | 623 | 40520 | Right-of-Way Monument | 14. | Each | \$207.38 | \$2,903.32 | \$1,155.18 | \$16,172.52 | \$500.00 | \$7,000.00 | \$300.00 | \$4,200.00 |
| 21 | 651 | 10000 | Topsoil Stockpiled | 931. | CY | \$8.50 | \$7,913.50 | \$6.59 | \$6,135.29 | \$15.00 | \$13,965.00 | \$21.00 | \$19,551.00 |
| 22 | 652 | 10000 | Placing Stockpiled Topsoil | 931. | CY | \$10.00 | \$9,310.00 | \$3.07 | \$2,858.17 | \$29.00 | \$26,999.00 | \$28.50 | \$26,533.50 |
| 23 | 653 | 10000 | Topsoil Furnished and Placed | 415. | CY | \$34.20 | \$14,193.00 | \$42.45 | \$17,616.75 | \$59.00 | \$24,485.00 | \$51.00 | \$21,165.00 |
| 24 | 690 | 50350 | Special - Mailbox Removed and Reset | 2. | Each | \$234.49 | \$468.98 | \$325.97 | \$651.94 | \$220.00 | \$440.00 | \$265.00 | \$530.00 |
| | | | | | | Subtotal | \$265,284.31 | Subtotal | \$309,376.77 | Subtotal | \$405,522.08 | Subtotal | \$478,700.25 |
| Erosion Control | | | | | | | | | | | | | |
| 25 | 601 | 21050 | Tied Concrete Block Mat, Type 1 | 2. | SY | \$179.47 | \$358.94 | \$43.15 | \$86.30 | \$250.00 | \$500.00 | \$235.00 | \$470.00 |
| 26 | 659 | 00100 | Soil Analysis Test | 2. | Each | \$128.39 | \$256.78 | \$51.93 | \$103.86 | \$150.00 | \$300.00 | \$400.00 | \$800.00 |
| 27 | 659 | 10001 | Seeding And Mulching, As Per Plan | 5,494. | SY | \$2.52 | \$13,844.88 | \$1.30 | \$7,142.20 | \$1.67 | \$9,174.98 | \$1.55 | \$8,515.70 |
| 28 | 659 | 14000 | Repair Seeding and Mulching | 275. | SY | \$1.33 | \$365.75 | \$1.04 | \$286.00 | \$1.67 | \$459.25 | \$1.55 | \$426.25 |
| 29 | 659 | 15000 | Inter-Seeding | 275. | SY | \$0.97 | \$266.75 | \$1.04 | \$286.00 | \$1.00 | \$275.00 | \$1.55 | \$426.25 |
| 30 | 659 | 20000 | Commercial Fertilizer | 0.74 | Ton | \$901.95 | \$667.44 | \$519.31 | \$384.29 | \$825.00 | \$610.50 | \$1,250.00 | \$925.00 |
| 31 | 659 | 31000 | Lime | 1.14 | Acre | \$52.00 | \$59.28 | \$103.86 | \$118.40 | \$70.00 | \$79.80 | \$100.00 | \$114.00 |
| 32 | 659 | 35000 | Water | 30. | Mgal | \$3.29 | \$98.70 | \$10.39 | \$311.70 | \$1.00 | \$30.00 | \$2.00 | \$60.00 |
| 33 | 659 | 40000 | Mowing | 13. | MSF | \$8.11 | \$105.43 | \$10.39 | \$135.07 | \$36.50 | \$474.50 | \$2.00 | \$26.00 |
| 34 | 832 | 15000 | Storm Water Pollution Prevention Plan | 1. | LS | \$2,400.00 | \$2,400.00 | \$1,557.94 | \$1,557.94 | \$2,000.00 | \$2,000.00 | \$1,675.00 | \$1,675.00 |
| 35 | 832 | 15002 | Storm Water Pollution Prevention Inspections | 1. | LS | \$7,800.00 | \$7,800.00 | \$11,424.91 | \$11,424.91 | \$5,000.00 | \$5,000.00 | \$3,570.00 | \$3,570.00 |
| 36 | 832 | 15010 | Storm Water Pollution Prevention Inspection Software | 1. | LS | \$9,300.00 | \$9,300.00 | \$12,463.53 | \$12,463.53 | \$7,000.00 | \$7,000.00 | \$6,250.00 | \$6,250.00 |
| 37 | 832 | 30000 | Erosion Control | 1. | Each | \$1.00 | \$1.00 | \$26,121.00 | \$26,121.00 | \$26,121.00 | \$26,121.00 | \$26,121.00 | \$26,121.00 |
| | | | | | | Subtotal | \$35,524.95 | Subtotal | \$60,421.20 | Subtotal | \$52,025.03 | Subtotal | \$49,379.20 |
| Drainage | | | | | | | | | | | | | |
| 38 | 601 | 21060 | Tied Concrete Block Mat, Type 2 | 82. | SY | \$65.31 | \$5,355.42 | \$70.35 | \$5,768.70 | \$140.00 | \$11,480.00 | \$65.00 | \$5,330.00 |

| Ref. No. | Item No. | Item Ext. | Description | Est. Quantity | Units | ENGINEERS ESTIMATE | | R.B. Jergens Contractors | | Barrett Paving Materials | | John R. Jurgensen Co. | |
|-----------------|----------|-----------|--|---------------|-------|--------------------|---------------------|--------------------------|---------------------|--------------------------|---------------------|-----------------------|---------------------|
| | | | | | | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price |
| 39 | 602 | 20000 | Concrete Masonry | 0.6 | CY | \$2,487.76 | \$1,492.66 | \$4,692.50 | \$2,815.50 | \$3,400.00 | \$2,040.00 | \$4,350.00 | \$2,610.00 |
| 40 | 605 | 06000 | 4" Base Pipe Underdrains | 1,215. | FT | \$11.06 | \$13,437.90 | \$6.49 | \$7,885.35 | \$16.00 | \$19,440.00 | \$18.50 | \$22,477.50 |
| 41 | 611 | 00406 | 4" Conduit, Type F | 100. | FT | \$18.52 | \$1,852.00 | \$23.71 | \$2,371.00 | \$16.00 | \$1,600.00 | \$33.00 | \$3,300.00 |
| 42 | 611 | 00410 | 4" Conduit, Type F For Underdrain Outlet | 139. | FT | \$16.00 | \$2,224.00 | \$19.19 | \$2,667.41 | \$16.00 | \$2,224.00 | \$37.00 | \$5,143.00 |
| 43 | 611 | 02000 | 8" Conduit, Type C | 12. | FT | \$42.31 | \$507.72 | \$82.78 | \$993.36 | \$77.00 | \$924.00 | \$94.00 | \$1,128.00 |
| 44 | 611 | 04200 | 12" Conduit, Type A | 67. | FT | \$60.72 | \$4,068.24 | \$76.69 | \$5,138.23 | \$78.00 | \$5,226.00 | \$103.00 | \$6,901.00 |
| 45 | 611 | 04400 | 12" Conduit, Type B | 60. | FT | \$85.03 | \$5,101.80 | \$78.48 | \$4,708.80 | \$78.00 | \$4,680.00 | \$96.50 | \$5,790.00 |
| 46 | 611 | 04600 | 12" Conduit, Type C | 63. | FT | \$71.87 | \$4,527.81 | \$78.95 | \$4,973.85 | \$78.00 | \$4,914.00 | \$72.00 | \$4,536.00 |
| 47 | 611 | 04900 | 12" Conduit, Type D | 78. | FT | \$42.91 | \$3,346.98 | \$80.12 | \$6,249.36 | \$58.00 | \$4,524.00 | \$57.50 | \$4,485.00 |
| 48 | 611 | 97400 | Conduit, Misc.: Type C for Drainage Discharge Continuance | 50. | FT | \$20.00 | \$1,000.00 | \$46.36 | \$2,318.00 | \$43.00 | \$2,150.00 | \$78.00 | \$3,900.00 |
| 49 | 611 | 98180 | Catch Basin, No. 3A | 3. | Each | \$2,371.16 | \$7,113.48 | \$2,551.59 | \$7,654.77 | \$3,600.00 | \$10,800.00 | \$2,650.00 | \$7,950.00 |
| 50 | 611 | 98470 | Catch Basin, No. 2-2B | 2. | Each | \$1,653.72 | \$3,307.44 | \$1,655.36 | \$3,310.72 | \$1,800.00 | \$3,600.00 | \$1,450.00 | \$2,900.00 |
| 51 | 611 | 99661 | Manhole Reconstructed to Grade, As Per Plan | 1. | Each | \$3,000.00 | \$3,000.00 | \$1,608.15 | \$1,608.15 | \$1,300.00 | \$1,300.00 | \$2,700.00 | \$2,700.00 |
| 52 | 611 | 99710 | Precast Reinforced Concrete Outlet | 2. | Each | \$279.09 | \$558.18 | \$424.90 | \$849.80 | \$1,900.00 | \$3,800.00 | \$700.00 | \$1,400.00 |
| 53 | 611 | 99720 | Inspection Well | 1. | Each | \$869.78 | \$869.78 | \$685.06 | \$685.06 | \$550.00 | \$550.00 | \$2,000.00 | \$2,000.00 |
| | | | | | | Subtotal | \$57,763.41 | Subtotal | \$59,998.06 | Subtotal | \$79,252.00 | Subtotal | \$82,550.50 |
| Pavement | | | | | | | | | | | | | |
| 54 | 302 | 46000 | Asphalt Concrete Base, PG64-22, 5" | 975. | CY | \$156.44 | \$152,529.00 | \$170.16 | \$165,906.00 | \$150.00 | \$146,250.00 | \$173.00 | \$168,675.00 |
| 55 | 304 | 20000 | Aggregate Base, 6" | 1,237. | CY | \$52.31 | \$64,707.47 | \$50.10 | \$61,973.70 | \$70.00 | \$86,590.00 | \$78.50 | \$97,104.50 |
| 56 | 407 | 20000 | Non-Tracking Tack Coat | 629. | Gal | \$3.43 | \$2,157.47 | \$2.13 | \$1,339.77 | \$3.25 | \$2,044.25 | \$5.00 | \$3,145.00 |
| 57 | 411 | 10000 | Stabilized Crushed Aggregate, 8" | 15. | CY | \$95.20 | \$1,428.00 | \$66.83 | \$1,002.45 | \$140.00 | \$2,100.00 | \$382.00 | \$5,730.00 |
| 58 | 442 | 10000 | Asphalt Concrete Surface Course, 12.5 mm, Type A (446), 1/5" | 222. | CY | \$251.90 | \$55,921.80 | \$266.93 | \$59,258.46 | \$250.00 | \$55,500.00 | \$276.00 | \$61,272.00 |
| 59 | 442 | 10100 | Asphalt Concrete Intermediate Course, 19 mm, Type A (446), 1.75" | 258. | CY | \$232.80 | \$60,062.40 | \$224.39 | \$57,892.62 | \$210.00 | \$54,180.00 | \$237.00 | \$61,146.00 |
| 60 | 451 | 11011 | 7" Reinforced Concrete Pavement, Class QC 1P, As Per Plan | 825. | SY | \$100.00 | \$82,500.00 | \$71.40 | \$58,905.00 | \$90.00 | \$74,250.00 | \$99.00 | \$81,675.00 |
| 61 | 452 | 09010 | 6" Non-Reinforced Concrete Pavement, Class QC 1P | 120. | SY | \$90.00 | \$10,800.00 | \$87.55 | \$10,506.00 | \$80.00 | \$9,600.00 | \$75.00 | \$9,000.00 |
| 62 | 609 | 18001 | Combination Curb and Gutter, Type 3, As Per Plan | 2,574. | FT | \$25.00 | \$64,350.00 | \$18.53 | \$47,696.22 | \$21.00 | \$54,054.00 | \$30.00 | \$77,220.00 |
| 63 | 609 | 20000 | Curb, Type 3-A | 209. | FT | \$25.00 | \$5,225.00 | \$25.21 | \$5,268.89 | \$12.00 | \$2,508.00 | \$19.50 | \$4,075.50 |
| 64 | 609 | 22001 | Curb, Type 3-B, As Per Plan | 810. | FT | \$30.00 | \$24,300.00 | \$18.75 | \$15,187.50 | \$25.00 | \$20,250.00 | \$33.50 | \$27,135.00 |
| 65 | 609 | 26000 | Curb, Type 6 | 158. | FT | \$33.26 | \$5,255.08 | \$25.22 | \$3,984.76 | \$25.00 | \$3,950.00 | \$27.00 | \$4,266.00 |
| 66 | 609 | 31000 | Combination Curb And Gutter, Type 9 | 289. | FT | \$30.00 | \$8,670.00 | \$26.32 | \$7,606.48 | \$25.00 | \$7,225.00 | \$32.00 | \$9,248.00 |
| 67 | 609 | 31001 | Combination Curb And Gutter, Type 9, As Per Plan | 165. | FT | \$30.00 | \$4,950.00 | \$24.08 | \$3,973.20 | \$27.00 | \$4,455.00 | \$33.50 | \$5,527.50 |
| | | | | | | Subtotal | \$542,856.22 | Subtotal | \$500,501.05 | Subtotal | \$522,956.25 | Subtotal | \$615,219.50 |
| Lighting | | | | | | | | | | | | | |
| 68 | 625 | 00450 | Connection, Fused Pull Apart | 20. | Each | \$92.05 | \$1,841.00 | \$93.48 | \$1,869.60 | \$90.00 | \$1,800.00 | \$90.00 | \$1,800.00 |
| 69 | 625 | 00460 | Connection, Unfused Pull Apart | 10. | Each | \$90.83 | \$908.30 | \$93.48 | \$934.80 | \$90.00 | \$900.00 | \$90.00 | \$900.00 |
| 70 | 625 | 00480 | Connection, Unfused Permanent | 54. | Each | \$92.71 | \$5,006.34 | \$93.48 | \$5,047.92 | \$90.00 | \$4,860.00 | \$90.00 | \$4,860.00 |
| 71 | 625 | 10490 | Light Pole, Conventional, on Transformer Base, 32.5' Mounting Height, 8' Bracket Arm | 10. | Each | \$2,173.36 | \$21,733.60 | \$3,012.02 | \$30,120.20 | \$2,900.00 | \$29,000.00 | \$2,900.00 | \$29,000.00 |
| 72 | 625 | 14000 | Light Pole Foundation, 24" X 6' Deep | 10. | Each | \$1,350.23 | \$13,502.30 | \$1,869.53 | \$18,695.30 | \$1,800.00 | \$18,000.00 | \$1,800.00 | \$18,000.00 |
| 73 | 625 | 23200 | No. 4 AWG 2400 Volt Distribution Cable | 543. | FT | \$3.28 | \$1,781.04 | \$3.53 | \$1,916.79 | \$3.40 | \$1,846.20 | \$3.40 | \$1,846.20 |
| 74 | 625 | 23400 | No. 10 AWG Pole And Bracket Cable | 1,220. | FT | \$1.57 | \$1,915.40 | \$1.25 | \$1,525.00 | \$1.20 | \$1,464.00 | \$1.20 | \$1,464.00 |
| 75 | 625 | 24320 | 1-1/2" Duct Cable With Three No. 4 Awg 2400 Volt Cables | 1,193. | FT | \$8.01 | \$9,555.93 | \$10.18 | \$12,144.74 | \$9.80 | \$11,691.40 | \$9.80 | \$11,691.40 |
| 76 | 625 | 25500 | Conduit, 3", 725.04 | 151. | FT | \$21.03 | \$3,175.53 | \$38.43 | \$5,802.93 | \$37.00 | \$5,587.00 | \$37.00 | \$5,587.00 |

| Ref. No. | Item No. | Item Ext. | Description | Est. Quantity | Units | ENGINEERS ESTIMATE | | R.B. Jergens Contractors | | Barrett Paving Materials | | John R. Jurgensen Co. | |
|-------------------------------|----------|-----------|--|---------------|-------|--------------------|-----------------------|--------------------------|-----------------------|--------------------------|-----------------------|-----------------------|-----------------------|
| | | | | | | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price |
| 77 | 625 | 26253 | Luminaire, Conventional, Solid State (LED), As Per Plan | 10. | Each | \$600.00 | \$6,000.00 | \$519.31 | \$5,193.10 | \$500.00 | \$5,000.00 | \$500.00 | \$5,000.00 |
| 78 | 625 | 29002 | Trench, 24" Deep | 1,199. | FT | \$9.08 | \$10,886.92 | \$7.69 | \$9,220.31 | \$7.40 | \$8,872.60 | \$7.40 | \$8,872.60 |
| 79 | 625 | 30700 | Pull Box, 725.08, 18" | 7. | Each | \$756.39 | \$5,294.73 | \$856.87 | \$5,998.09 | \$825.00 | \$5,775.00 | \$825.00 | \$5,775.00 |
| 80 | 625 | 32000 | Ground Rod | 11. | Each | \$206.43 | \$2,270.73 | \$275.24 | \$3,027.64 | \$265.00 | \$2,915.00 | \$265.00 | \$2,915.00 |
| 81 | 625 | 34001 | Power Service, As Per Plan | 1. | Each | \$2,500.00 | \$2,500.00 | \$1,038.63 | \$1,038.63 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 |
| 82 | 625 | 34450 | Control Center Cabinet, Complete | 1. | Each | \$5,250.00 | \$5,250.00 | \$7,685.85 | \$7,685.85 | \$7,400.00 | \$7,400.00 | \$7,400.00 | \$7,400.00 |
| 83 | 625 | 36011 | Underground Warning/Marking Tape, As Per Plan | 1,048. | FT | \$0.60 | \$628.80 | \$1.45 | \$1,519.60 | \$1.40 | \$1,467.20 | \$1.40 | \$1,467.20 |
| 84 | 632 | 69200 | Power Cable, 2 Conductor, No. 4 AWG | 53. | FT | \$2.99 | \$158.47 | \$5.40 | \$286.20 | \$5.20 | \$275.60 | \$5.20 | \$275.60 |
| 85 | 632 | 70200 | Conduit Riser, 1" Diameter | 1. | Each | \$300.00 | \$300.00 | \$359.37 | \$359.37 | \$346.00 | \$346.00 | \$346.00 | \$346.00 |
| | | | | | | Subtotal | \$92,709.09 | Subtotal | \$112,386.07 | Subtotal | \$108,200.00 | Subtotal | \$108,200.00 |
| Traffic Control | | | | | | | | | | | | | |
| 86 | 630 | 03101 | Ground Mounted Support, No. 3 Post, As Per Plan | 404. | FT | \$10.61 | \$4,286.44 | \$22.85 | \$9,231.40 | \$22.00 | \$8,888.00 | \$12.25 | \$4,949.00 |
| 87 | 630 | 80100 | Sign, Flat Sheet | 178. | SF | \$16.85 | \$2,999.30 | \$20.77 | \$3,697.06 | \$20.00 | \$3,560.00 | \$23.50 | \$4,183.00 |
| 88 | 630 | 84900 | Removal of Ground Mounted Sign and Disposal | 12. | Each | \$20.41 | \$244.92 | \$20.77 | \$249.24 | \$20.00 | \$240.00 | \$17.75 | \$213.00 |
| 89 | 630 | 86002 | Removal of Ground Mounted Post Support and Disposal | 9. | Each | \$23.14 | \$208.26 | \$31.16 | \$280.44 | \$30.00 | \$270.00 | \$23.75 | \$213.75 |
| 90 | 630 | 97700 | Signing, Misc.: Relocation of Sign Flasher Assembly | 1. | Each | \$500.00 | \$500.00 | \$2,388.84 | \$2,388.84 | \$2,300.00 | \$2,300.00 | \$800.00 | \$800.00 |
| 91 | 630 | 97700 | Signing, Misc.: Removal And Delivery of Flasher | 4. | Each | \$250.00 | \$1,000.00 | \$207.73 | \$830.92 | \$200.00 | \$800.00 | \$500.00 | \$2,000.00 |
| 92 | 630 | 97700 | Signing, Misc.: Solar-Powered Rectangular Rapid Flashing Beacon (RRFB) Sign Assembly | 2. | Each | \$9,000.00 | \$18,000.00 | \$7,789.71 | \$15,579.42 | \$7,500.00 | \$15,000.00 | \$8,000.00 | \$16,000.00 |
| 93 | 644 | 00100 | Edge Line, 4" | 0.49 | Mile | \$3,754.98 | \$1,839.94 | \$6,401.50 | \$3,136.74 | \$5,004.00 | \$2,451.96 | \$4,982.00 | \$2,441.18 |
| 94 | 644 | 00300 | Center Line | 0.45 | Mile | \$6,227.82 | \$2,802.52 | \$10,669.17 | \$4,801.13 | \$12,028.00 | \$5,412.60 | \$9,361.00 | \$4,212.45 |
| 95 | 644 | 00620 | Crosswalk Line, 12" | 50. | FT | \$3.25 | \$162.50 | \$5.33 | \$266.50 | \$8.02 | \$401.00 | \$3.60 | \$180.00 |
| 96 | 644 | 00700 | Transverse/Diagonal Line | 247. | FT | \$5.60 | \$1,383.20 | \$6.40 | \$1,580.80 | \$7.00 | \$1,729.00 | \$7.60 | \$1,877.20 |
| 97 | 644 | 01510 | Dotted Line, 12" | 168. | FT | \$2.29 | \$384.72 | \$3.20 | \$537.60 | \$3.00 | \$504.00 | \$2.40 | \$403.20 |
| 98 | 644 | 20800 | Yield Line | 61. | FT | \$10.82 | \$660.02 | \$8.54 | \$520.94 | \$15.00 | \$915.00 | \$11.95 | \$728.95 |
| 99 | 647 | 20080 | Crosswalk Line, 24", Type B90 | 50. | FT | \$3.25 | \$162.50 | \$26.67 | \$1,333.50 | \$24.00 | \$1,200.00 | \$19.00 | \$950.00 |
| | | | | | | Subtotal | \$34,634.32 | Subtotal | \$44,434.53 | Subtotal | \$43,671.56 | Subtotal | \$39,151.73 |
| Maintenance of Traffic | | | | | | | | | | | | | |
| 100 | 410 | 12000 | Traffic Compacted Surface, Type A or B | 64. | CY | \$46.12 | \$2,951.68 | \$48.60 | \$3,110.40 | \$77.00 | \$4,928.00 | \$97.00 | \$6,208.00 |
| 101 | 614 | 11110 | Law Enforcement Officer with Patrol Car for Assistance | 40. | Hour | \$68.99 | \$2,759.60 | \$74.15 | \$2,966.00 | \$78.00 | \$3,120.00 | \$100.00 | \$4,000.00 |
| 102 | 616 | 10000 | Water | 10. | Mgal | \$24.33 | \$243.30 | \$123.95 | \$1,239.50 | \$20.00 | \$200.00 | \$82.00 | \$820.00 |
| | | | | | | Subtotal | \$5,954.58 | Subtotal | \$7,315.90 | Subtotal | \$8,248.00 | Subtotal | \$11,028.00 |
| Incidentals | | | | | | | | | | | | | |
| 103 | 103 | 05000 | Premium for Contract Performance Bond and for Payment Bond | 1. | LS | \$11,339.64 | \$11,339.64 | \$12,849.86 | \$12,849.86 | \$8,000.00 | \$8,000.00 | \$11,500.00 | \$11,500.00 |
| 104 | 614 | 11000 | Maintaining Traffic | 1. | LS | \$24,045.42 | \$24,045.42 | \$41,919.11 | \$41,919.11 | \$50,000.00 | \$50,000.00 | \$28,300.35 | \$28,300.35 |
| 105 | 619 | 16010 | Field Office, Type B | 6. | Mnth | \$1,766.34 | \$10,598.04 | \$1,589.02 | \$9,534.12 | \$1,000.00 | \$6,000.00 | \$1,600.00 | \$9,600.00 |
| 106 | 623 | 10000 | Construction Layout Stakes and Surveying | 1. | LS | \$19,844.37 | \$19,844.37 | \$13,060.74 | \$13,060.74 | \$30,000.00 | \$30,000.00 | \$8,200.00 | \$8,200.00 |
| 107 | 624 | 10000 | Mobilization | 1. | LS | \$40,000.00 | \$40,000.00 | \$36,188.19 | \$36,188.19 | \$30,000.00 | \$30,000.00 | \$30,000.00 | \$30,000.00 |
| | | | | | | Subtotal | \$105,827.47 | Subtotal | \$113,552.02 | Subtotal | \$124,000.00 | Subtotal | \$87,600.35 |
| Base Bid | | | | | | | \$1,140,554.35 | | \$1,207,985.60 | | \$1,343,874.92 | | \$1,471,829.53 |
| | | | | | 5% | Contingency | \$59,033.72 | | \$0.00 | | \$0.00 | | \$0.00 |

| Ref. No. | Item No. | Item Ext. | Description | Est. Quantity | Units | ENGINEERS ESTIMATE | | R.B. Jergens Contractors | | Barrett Paving Materials | | John R. Jurgensen Co. | |
|---------------------------------|----------|-----------|--|---------------|-------|--------------------|-----------------------|--------------------------|-----------------------|--------------------------|-----------------------|-----------------------|-----------------------|
| | | | | | | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price | Bid Unit Price | Total Bid Price |
| Base Bid and Contingency | | | | | | | \$1,199,588.07 | | \$1,207,985.60 | | \$1,343,874.92 | | \$1,471,829.53 |
| Alternate No. 1 | | | | | | | | | | | | | |
| 108 | 204 | 10000 | Subgrade Compaction | 95. | SY | \$3.62 | \$343.90 | \$4.05 | \$384.75 | \$8.00 | \$760.00 | \$18.55 | \$1,762.25 |
| 109 | 254 | 01000 | Pavement Planing, Asphalt Concrete, 1.25" | 1,287. | SY | \$6.35 | \$8,172.45 | \$9.57 | \$12,316.59 | \$12.00 | \$15,444.00 | \$10.50 | \$13,513.50 |
| 110 | 407 | 20000 | Non-Tracking Tack Coat | 117. | Gal | \$3.51 | \$410.67 | \$2.13 | \$249.21 | \$3.25 | \$380.25 | \$5.00 | \$585.00 |
| 111 | 411 | 10000 | Stabilized Crushed Aggregate, 8" | 23. | CY | \$88.82 | \$2,042.86 | \$66.83 | \$1,537.09 | \$140.00 | \$3,220.00 | \$375.00 | \$8,625.00 |
| 112 | 441 | 50000 | Asphalt Concrete Surface Course, Type 1, (448), PG64-22, 1.25" | 46. | CY | \$292.28 | \$13,444.88 | \$244.60 | \$11,251.60 | \$250.00 | \$11,500.00 | \$475.00 | \$21,850.00 |
| Alternate No. 1 | | | | | | | \$24,414.76 | | \$25,739.24 | | \$31,304.25 | | \$46,335.75 |
| Alternate No. 2 | | | | | | | | | | | | | |
| 113 | 206 | 10500 | Cement | 207. | Ton | \$161.02 | \$33,331.14 | \$192.80 | \$39,909.60 | \$190.00 | \$39,330.00 | \$247.00 | \$51,129.00 |
| 114 | 206 | 11000 | Curing Coat | 6,792. | SY | \$1.10 | \$7,471.20 | \$1.04 | \$7,063.68 | \$1.30 | \$8,829.60 | \$1.55 | \$10,527.60 |
| 115 | 206 | 15020 | Cement Stabilized Subgrade, 14 Inches Deep | 6,792. | SY | \$3.29 | \$22,345.68 | \$3.16 | \$21,462.72 | \$4.20 | \$28,526.40 | \$24.00 | \$163,008.00 |
| Alternate No. 2 | | | | | | | \$63,148.02 | | \$68,436.00 | | \$76,686.00 | | \$224,664.60 |
| Alternate No. 3 | | | | | | | | | | | | | |
| 116 | 690 | 98700 | Special - Rock Mulch | 42. | CY | \$300.00 | \$12,600.00 | \$118.44 | \$4,974.48 | \$124.00 | \$5,208.00 | \$209.00 | \$8,778.00 |
| Alternate No. 3 | | | | | | | \$12,600.00 | | \$4,974.48 | | \$5,208.00 | | \$8,778.00 |
| Base Bid and Alternates | | | | | | | \$1,299,750.85 | | \$1,307,135.32 | | \$1,457,073.17 | | \$1,751,607.88 |
| | | | | | | | | | (\$0.01) | | \$0.00 | | \$0.00 |